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“Brimming with contrarian insight and practical wisdom.”
—Andy Hertzfeld, co-creator of the Macintosh computer
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Basic Syntax:

%_ OpenResty ™

> (define foo "bar")
out = "bar"

> (print! "nello, world")
hello, world
out = nil

>(+123)
out=6

> (if (> 2 3)
"bigger"
"smaller")

out = "smaller"

> (defun add [a b]
(+ ab))
out = function: 0x7fded8d906f0

> foo = "bar"

> print("hello,world")
hello, world

>1+2+3
6

> |f 2> 3 then

>>  return "bigger"
>> else

>>  return "smaller”
>> end

smaller

> function add (a, b)
>> return (a + b)
>> end
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X—TINM4R String LHYIRIE, DA split
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1% Lua pattern #17H)089, S1ENFR
B E—LEXF,

http://lua-users.org/wiki/Splitjoin

(import core/string str)

_ local ngx_re = require "ngx.re"
(str/split "hello,world" ",")

local res, err = ngx_re.split("a,b,c,d", "(,)")

;; out = ("hello" "world")

BT ngx.re XMERZELE—ETT
BZINEE, bl FABEREMR, WIS HIERT ...
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AR Lua BB LLRERNINERS

%ﬁik?%%wotm$¢
X—T1T8—XLE List ERYIRIE,
[Ty Lua
> (elem? 256 (32 64 128 256)) function has_value (tab, val)
out = true for index, value in ipairs(tab) do
if value == val then
return true
end
Urn 2% list 5 table #, end
return false
end
— > has_value ({32, 64, 128, 256, 512}, 256)
true
> (append ‘(1 2) '(3 4))
out=(1234) fori=1, #1 do
t2[#t2+1] = t1][i]
end

> (flatten '((1 2) (3 4) '(5 6)))
out=(123456)

{_ OpenResty ™

IT2emis



nFAY Lua

(import data/set (set-of intersection))

Urn SEELT —1 Set #&1R, RIiRDE ‘
SNNEFHRE. INBR—LHRT

i table 1R/E

IF{EIHEE— T import B9BPFRS | N AR
HRZRET,

(intersection (set-of 1 2 3) (set-of 3 4 5))
;; out = «hash-set: 3»

(intersection (set-of 1 2 3) (set-of 3 4 5) (set-of 7 8 9))
;; out = «hash-set: »

(import data/set s)

(s/union (s/set-of 1 2 3) (s/set-of 4 5 6))
;; out = «hash-set: 1234 5 6»

EIRHISINGTEE, ENTERTRER
(union'(123)'(3334)5)) B B[R,
;out=(1234D5)
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SEIRZFAY Lua

data/bitset math/bignum

core/match math/matrix
data/graph

math/rational
lo/term

FIGEY EX
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(defmacro if (c t f)
“(cond (,c ,t) (true ,f)))
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map, filter, and reduce
explained with emoji &

filter([®, ®, », W], isvegetarian)

=> [®, ]

reduce([®, ® S, ], eat)
=> %0




filter 1 map #BEJLAH reduce L1

STANE:

reduce f z XS

reduce ;2 LEEBAII— “/2=X”, 3
HNEREFNMERE BB IER#H
ITTHR.
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= M1 RN

(reduce
(lambda [acc X] (+ acc X) )
0
'(1 2 3))

s out=6

> (reduce + '(1 2 3))
out==>6
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= M1 RN

> (map f'(1 2 3))
out = (2 4 6)

(defun my-map [f xs]
(reduce (lambda [acc X]
(append acc (,(f x))))
XS))

> (my-map f'(1 2 3))
out = (2 4 6)
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curry tERE, DA BEVIEA,
XEAEZM Clojure EEEET KM,

= T RN

> ((cut * 2 <) 3)

<> ;; Un BEXTRAMM “slot”,
{ERZ2TE curry {LEIRHMRMR SAIRT .

out=6

> ((cut* < <) 2 3) —/™ list HEE S slot HIBH
out =6

(->'(123)

(map succ <>)

(map (cut * < 2) <)) S

> out=(4 6 8)
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— naive B4 fibonacci #1315 n I,
ha—TRE BB,
(defun fib [n]
(case n
0 1]
RIE]
(7% (+ (fib (- x 1))
fib (- x 2)))]))

> (map fib (range :from O :to 6))
gUt=1F1s12 35813
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(defun last2 [l]
(case |

() nil ——
e eyl
(_ . ?xs) (last2 xs)]))

> (last2 1 23 4 5])
out = (4 5)
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XREBERES T Clojure FIg20,

Urn B9 Immutable 45143586 1%
Clojure ARFERH .

& let RS B2 ATEMN,

Immutable

toplevel L& XAIZRA, WMRAIIMELME,

(define x :mutable 1) ERAR immutable £,
SR seta! HOFiE,

& B35 immutable B98F4b,

(set! x 2)
X =2

> (define x 1)

out =1

> (set! x 2)

[ERROR] Cannot rebind immutable definition 'x'

=> <stdin>:[1:1 .. 1:10]
1| (set! x 2)
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5 Lua g

:: X.Slze
(print! (.> x :size))

;; X.range.name

(define x { (print! (.> x :range :name))
.size 20
crange {"name" "foo"}}) ;) X.Size =2

(.<! x :size 2)

;; X.range.name = "bar"
(.<! x :range :name "bar")

IT2emizs
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5 Lua &

(define mysql (require "resty.mysql"))

(let [(mysql (require "resty.mysql")] local mysql = require "resty.mysql"

do-something)

(with [mysql (require "resty.mysql")]
do-something)

*} OpenResty ™

T Zemis



7ot
iy

5 Lua

((.> ngx :print) data)

ngx.print(data)

(define ngx-print (.> ngx :print))
(ngx-print data)

t_ OpenResty ™
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5 Lua

(call ngx :print data) ngx.print(data)
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5 Lua g

local db = mysqgl:new()
db:connect{
lHesE=te2/:0.0. 1"
port = 3306,
database = "test",
user = "monty",
password = "mypass"”

}

local res, err, errno, sqlstate =
db:query("select * from cats order by id asc")

print(res)

IT2emizs
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5 Lua &

N

(with [db (self mysqgl :new)]
(self db :connect
{

host 278000 T
port 3306
database "test"
user “monty"”
password "mypass"

})

(destructuring-bind

l@resui)
(list (self db :query "select * from cats order by id asc"))]

(print! res)))

IT2emizs
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5 Lua &

iny

(define cjson (require "cjson")) Ii gy Uk, bl | i
(define cjson-encode (.> cjson :encode)) } lisp = require(*/path/to/target/out’)
(defun greeting (ngx)

(call ngx :say

(format nil location /lisp {
"HELLO-FROM-LISP: {msg)" default_type text/ntml;
:msg (cjson-encode {

00" "bar" content_by_lua_block {
})))) lisp.hello (ngx);
Y
{ Y

"hello" greeting

I

TN
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Recap
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